MONSELICEC 0 VINTAGE MORTISE 6

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 1 2 3 4 5 SET PUNTI |PARTITE
A XA XA XA XA XA X|A|X|A|X
A [FORTIN X |GREGGIO 7 1115 111 |11 0|3 (13/33/0 1
B ZERBETTO Y |CIBIN 8 |11/ 2|11 5 |11 0|3[15/33| 0 |1
DP|ZERBETTO-BUSACCA |DP|GREGGIO-CIBIN 5114 11| 9 | 11 0 3/18/33| 0 1
C BUSACCA Z |BERTON 101210 (12| 9 |11 0[3(29/35/0 1
B |ZERBETTO X |GREGGIO 6 |11 3 [11] 3 [11 0312|330 1
A |[FORTIN Z |BERTON 1119 | 3 (11|16 |11 9 |11 113]29(42| 0 | 1
C Y 00
B Z 00
C X 00
A Y 00
TOTALI| 1 |18 116/209 0 | 6




